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EP9 EM14
EP11 ET11
EP12
ET12 EP13

EMUG601, 602
EP12 E

EP1O

ET3
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EMUG00



EMB 00

EMUS500

Duty Cycl 8%~45 EMB 0O
EMU500
Duty 3Cy%~ 4e5
EMBO0O0
1. 8. 5bar 8.5 bar 10
bar 80
2. EP 7 ( 2.7
bar) 0.1 baf¥ )
3. 7 ( 2.7
bar 0.5 bar( )
4 . 0. 05 ba(r )
1. 5 0.42kg/ cm
2 . 0.92kg/ cm
3. 1.5 %kg/ cm
4 . 3 0.2 %g/ cm
5 7 ( 2.7

bar) 0.5 %g/cm
6. EP 7 ( 2.7
bar) 0.2 %g/cm

EMBO0O0
1.1 ( C)
1. 1EMC, EM



VI M XA knxi (x@ e00. 8(1QOMIPo Ve ( CML- CMO) ]

AK = d m

Po =

VI M =
EG2 xI%x 680 . 01 +X(.302 +4 3+ D0] 1
=107 .d&n

1. 1EZ, EP

VI RXAKI® sx). 000. 0OxL CRLPo V& CRL - ]JCRO
n =

AK = d rh

CRE bar

Po=
V=l R
=1 §[2 xB(6 80 . 0 1B . P+t 183 .12) |
=107 dé

1.1T8¢tal )
=V1M+V1R



=215. 2 d m

1.2
1. 2EMC, EM
V2 Mnx(xL ¥( CML - CMO )

n = EMC, EM 2
qQ = 0312%md m
L = 2 %

Y2 M

=2x(0 . 32183 . 2

=50 *® dm

12. ET, EP
V2 Rx(xL ¥( CRL- CRO)

n = ET, EP
q = (1/ @i =15 mm) 0312%md m
L = m
¥2R
=2x(0 . 32ABB . 2
=50 * dm
1.2.Bot al ( )
=V2M+V2R

=100 2 dm

1.3
1.3.1
1 EMCEM

V 8 M=nxzxq d

10



Qd = mi n
z = 4
n = EMCEM 2

M( 3 d )

=2x4x9

=7 2 Hm n

2 ET, EP
V 83R=nx xqd
qd = lmi n
Z = 4
n = ET, EP 2
V3dR )

=2x4x9

=7 2 #m n

3 total( )
=V3dM+V3dR
=144 midm

1 EM, EMC

V3SM X&Zx ( VM-xDTM+{ DT MxRBKDHB]
XKx( AWO- AWSA=( EXP.
Z =
n = EMC, EM
VM- B=2Z
DTM = AWS3 AWO 3
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A W3 =
A WO =

AB =
DHB =

V3SM )
=0 x2K4x(7 82 (3 + 222 2x05)0 5

=12 dnr

2 ET, EP

V3SR xx2«BVR-)BBZR+(TO+DARBRB)
XB(QO- QXB=( EXP.

Z =

N = ET, EP

VR- B+ Z

DTR = Q3 QO

Qo = Q3

To = (QO)

AB =

DHB =

P, =

V3 SR )
=0 xK4x( KB+ 3. 2 + XA#2K05 05)
=1 2 &d rh

3 Tda ( )

=V3SM+V3SR
=125+126



=25 1 h

4 V3@ -

)

Bx2x7 82 . 17 4 4x2X7 83 .

=164 20
=3564Hm

1 EMC, EM
V4 M M2x nx VEMP

n = EMC, EM
VCM
P =
V4 M( )
=2X2X3%2X6
=144 3dm
2 ET, EP

V4R2x nx/CR P

Z =
n =ET, EP
VR

V4R ( )

13

2



2X2X3%x2%6
=144 3dm

3 Tot al ( )
= V4M+V4R
=144+144
=288 3dm

EMBO0OO O. 05bar

1.5

( )
V5 M+=R 8q ®n a

T s = S
n a =
Z s = %
g s = ¥ mi n
V5 M+=R 3
1.6

)
VeM+ Rthg Rn a

t h = sec
n a =

z h =

g s = ¥ s
VM + R 3
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V7M x> \h& SP

ya =

n =
VCS = 3
P = bar
VM = 0 Um
7. 2

V7 R x(gxL XP
n =

g = x1dil® mm ¥ m
L = m
P = bar
V7 R = 3
Tot al M= WR/ 0 °dm
. 7.3
6bar 500NL/ mi n
. 8
)
q EO bar
. 8.1

1 EMC, EM
VBM  x{ 6@®%* NOYRTM
n EMC, EM
VRTM =
21 00+100+50+RPM&M+5)/ EMC 8@ *dm

15



V&M =
0 x@610 X<Zk2D8 0

=1 344 3dhm
2 ET, EP
V8R Xt 6 % HOYVRTM
n EP, E
VRT M=
=100+100+508D2+300ER00+50+25+5) / E
= 86 dm
V8R =
=0 x@&1 0 &1%x806 0
= 2 0 efMnh
3 Tot al ( )
=8M¥ 8R4 344+2064
=3408 3dhm
4 VBAL = ( )
= 182x2 80 1R1x8 6 0 14400 dm
1.2

1 V8P  x=( g8 /XL Q)

X = X@25D1I = 19 mm 08 4
L =
V8P Ox6x@d . X183040 3
2 VBAP =
=Pmax X L1880 . X2I840 3

3 Totalges V
=8MV¥ B8R + &P
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VOM
VWS
n-E
VoM
2.0 (
2.1

=1344 +2064+68
=34 76 U m
( )
= VAWWSn - E
n =
= ¥ h
2x1 4 1L 280% thm
) )
( ) mi n
( )
(EMC+ET+EP+EM)
X V&EM+V1IR2 9 ®mh
X V2 M+ V2 R)0 0freh
( ) x(V3DGr V3 Dr ) ¥ +h 8640 dm
( ) X(83Sm+V3Sri3 dfmh = 150
X V4M+V4R) 6 3 I 2304 dm
V5 M+ V5R) % h 0O dm
x(V6M + GR ) = 6 h192 dm
xXVIM+ TR ) 6 = % h 0O dm
V8g e s ) 4 (7 60%¥mh = 3
(WM+9R) = 280 dm

£7 7 1 &mh
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Qnet = 2 9 5F/mh

=1x1 120 2F/PniA

20

SUMXVP - A=\BBA+NP
=3564+14200+284
=18404 d m

2 t - A XSUMRKMP - A QPO -) a)

p O = bar
TO = k
T- a = k
Q = 112d@mi n
t - A =0bar 10bar
2X%XB8048 11320341
E2.mi n
2.3
DC =@M CK- Qdry) ]
QCco = 112@mi n
K = 1
DC = 200 1x112Dx224 3 %

(bC )
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1 EMC, EM
Nba xvW8BSHM 81- CML) / ( V1M+V2M)

=n EMC, EM 2
V8B #= 1 0dBm
C8M = 8h &r
nba 60 -
2 ET, TP
nba xvBBSH 8- CRL)/ (V1IR+V2R)
n ET=EP 2
VBB SR-= 10dm
C8 R = 8h &r
na = .6
0 ( )
EMC/ EM EP set ET
(ton)4d42. 2 40L.623. 1 38.
(ton)h 3 51 206. 3 49 .
(tonPkO. 2 5658. 235. 1
G,
( KN) 455. 38 3964337. 81741. 13
-10BEMC/ EM
( KN) 631.96590.36m63. 15 2427. 73
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- 5®%T; EP

(KN) 144.894. 2 94 . 2

( KN) 269. 18383. 49 300. 16

( KN) 376. 138389 . 43 406. 11

( KN) 445. 460. 0 476. 74

( R75)
EMC/ EM EF E MaJt

(bar) 2.98.150.28%3. 34
(bar) 4. 17 4. 343. D1 2 5

(bar) 4.95 5.151. 30 (M 0.225

BFC/ BFPC) F

17.7 19.19. 1
% )
KN ) 1093%69. 44 40.00
( KN) 14.7%. 86 57.664. 2
K N) 23.5 23.3 23. 3
2 2
( KN) 4 7 466 66 187.20
u( - ) 0033 0.3

pr ( KN) 1n43.319 8 8 56. 16
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RLV25
(bar)
(bar)

. 36

BFC/ BFC- F
17. 7
24. 422211

( KN)
( KN)

(KN) 141,
(KN) 194,

29
9 4

21

2.2Z. 72.
3.

60 3

127.
176. 9

56

7
. ®&®

16

@ 27.
P76.

1 . 418. 4

3.383.

EMC/ EM

EMC/ EM

EMC/ EM

62537. 82
92743. 71



u spec=8.5 (

-0)28 00 .2288

“ R'F
( KN) 39. 6
( KN) 54. 838 . 54
() s 0. 853
b=RF. 81/ G-t ot
( mf) s 0.847
(EP ) 2l Bh2)\Wwét Vv 2
( m) 593
T=3sec
( m) 597
(p-, KE)
(bar)
RLV25
« - )
( - )
EMC/ EM
RLV25
(bar) 3.10 3.10 3.10
(bar) 4. 10 4. 10 4.10

NY /w4

V=110Kkn

ERIUs et



(KN)165. 13 149. 589.53629. 33

(KN 24 .75 204.304.3858. 10
BFC/ BFC- F
( KN) 20. 64 18.609
( KN) 28.0925.54
( - ) ®.28 O0.28
13 R“ F
( KN) 46.24 41.87
( KN) 62.93 57.21
E MECM LEsMe t
13 b
() s 0. 996 0.
b=RF. 81/ G-t ot
() s 0.977
( 4 " C2)

] «RF¥MV Spec.6.6.5: 520-580 m
V=110 km/ h
( m) 530
T= 4 sec
( m) 539
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